DELHI PUBLIC SCHOOL VISAKHAPATNAM STEEL PLANT

Revision Assignment 2023-24
Class: VI

Subject: ENGLISH
A. Read the passage and answer the questions that follow:

Australia’s 2019-2020 Bushfire Season was not Normal
Data from satellite sources assembled by the United Nations Environment Programme’s (UNEP)
World Environment Situation Room confirms that the wildfires in Australia in the last two months
of 2019 and the first six weeks of 2020 were far from normal. 2019 was the second hottest year on
record since 1880, and Australia recorded its warmest temperatures ever in December 2019.
“Rising temperatures continue to melt records. The past decade was the hottest on record.
Scientists tell us that ocean temperatures are now rising at the equivalent of five Hiroshima bombs
a second. One million species are in near-term danger of extinction. Our planet is burning,” says
United Nations Secretary-General Antonio Guterres.
“The trend is very clear: 37 of the last 40 years were the warmest recorded since 1880, and the six
warmest years recorded were the last six years,” says Pascal Peduzzi, Director of UNEP’s Global
Resource Information Database in Geneva. “For those who think Australia is always burning,
graphs clearly show that these fires were exceptional.”
“This service, accessible via the UNEP’s World Environment Situation Room, is provided for all
countries at national and provincial levels. It identifies trends in wildfire activity since 2003, when
the data first became available and monitoring began. We have sliced and diced the satellite-based
data on wildfires worldwide from 2009 to the present day. We analyse the wildfires’ data by month,
type of land cover, protected area, province and nation to produce information products,” Peduzzi
adds. (Source: UN Environment)
Choose the correct option to answer the questions based on the above passage and graphics.
Do any ten.
(a) What do the reports confirm about the 2019-20 Australian fires?
(i) the fires were not normal
(ii) the fires were normal
(iii) the fires were natural
(iv) data inconclusive
(b) What was the difference in the recorded temperatures in 2019 from the 1880s?
(i) 2019 recorded the wettest temperatures since 1880s
(ii) 2019 recorded the hottest temperatures ever
(iii) 2019 recorded the cooler temperatures than 1880s
(iv) 2019 recorded the warmest temperatures since 1880s
(c) What comparison has been made between the rising sea temperatures and Hiroshima?
(i) ocean temperatures are rising at the equivalent of three Hiroshima bombs a second
(ii) ocean temperatures are rising at the equivalent of five Hiroshima bombs a second
(iii) ocean temperatures are rising at the equivalent of five Hiroshima bombs an hour
(iv) none of these
(d) Choose the option that lists the CORRECT answers for the following:
“Rising temperatures continue to melt records. The past decade was the hottest on record.
Scientists tell us that ocean temperatures are now rising at the equivalent of five Hiroshima bombs
a second”. Whose statement is this?

“The trend is very clear: 37 of the last 40 years were the warmest recorded since 1880, and the six
warmest years recorded were the last six years.” Whose statement is this?

(i) (1) is from United Nations Secretary and (2) is from the UN President

(ii) (1) is from the UN President and (2) is from the UN General Secretary

(iii) (1) is from United Nations Secretary and (2) is from the Director of UNEP



(iv) (1) is from the UN General Secretary and (2) is from the UN President

(e) Based on your understanding of the passage, choose the option that lists the inherent qualities
of climate in the present times.

(i) land 3 (i) 2 and 6 (iii) 3and 4 (iv) 5 and 6

(f) Which of the following independent data source is NOT PRESENT in the given graph?
(i) NASA (ii) NOAA (iii) ISRO (iv) JMA

(g) Choose the option that lists the CORRECT statement.

(i) Pascal Peduzzi is the Director of UNEP’s Global Renaissance Information Database

(ii) Pascal Peduzzi is the Director of UNO’s Global Resource Information Database

(iii) Pascal Peduzzi is the Manager of UNEP’s Global Resource Information Database

(iv) Pascal Peduzzi is the Director of UNEP’s Global Resource Information Database

(h) How can you say that the UN is concerned about the rising numbers of coal plants?

(i) UNDP Secretary General Antonio Guterres is calling for curbs on new plants

(ii) UN Secretary General Antonio Guterres is calling for curbs on new plants

(iii) UN Executive Secretary Antonio Guterres is calling for curbs on new plants

(iv) UN Secretary General Antony Guterres is calling for curbs on new plants

(i) UNEP’s World Environment Situation Room has been tracking the world temperatures since.
(i) 2003 (ii) 2013 (iii) 2000 (iv) 2001

(j) The graph compiled with data from four different sources shows that the global surface
temperatures have been _.

(i) steady (i) falling (iii) on the rise (iv) none of these

(k) Which word in the passage means the same as “collect”?

(i) assembled (ii) extinction (iii) exceptional (iv) provincial

(I) Which word in the passage is opposite to the meaning of ‘vague/murky’?

(i) assembled (ii) clear (iii) extinction (iv) provincial

B. Identify mistakes in the passage and correct them.

Incorrect Correct
Discipline is a structural and fundamental unit
of a success person. It is essential for us at home,
for soldiers on the battlefield, for students at school, for
players in the playground. A team of experience players
can also lose a match because to indiscipline in the team.
Every tough battle can be win by a disciplined army.
. Fill in the blanks with the correct form of tense.
.Ravi ...l English fluently. (speak)
Kiran .o to bring the money. (forget)
CANUJ from malaria for one week. (suffer)
N a drama yesterday. (see)
. The train .................. at the station when I reached there. (arrive)
. The police ......cccceveveiennin. a watch over his movements since 16 April. (keep)
.Ravi o the examination this year. (pass)
YOou ..oviviiiiiiiiine a novel at this time tomorrow. (read)

. Fill in the blanks with the correct modals

. I _ arrange the flowers for the bouquet. (may/can)

. __I borrow this pen from you? (may/might)

. The teacher __ ask you to bring the homework. (might/can)

. According to the weather forecast, it ___ snow heavily tomorrow. (may/shall)
. Raj hasn’t studied well. He __ fail his exam. (might/shall)

. You __ follow the traffic rules. (may/must)

. It __ be difficult to live amidst war. (should/must)

. My mother __ scold me if I don’t go back on time. (will/may)



E. Change the following sentences from active voice to passive voice.
1. The dog chased the cat.

2. The dog bit the boy.

3. The peon will ring the bell.

4. Ram is playing hockey.

5. Miss Mary teaches us English.

6. Raj was catching the ball.

7. Children like sweets.

8. Gardener has planted the saplings.

Subject: MATHEMATICS

. Express following as decimals : a) % b) 1—70 c) 2 27
. Express the following as an improper fractions: a) 2 g b) 5; c)4 g

. Express 0.041 the following as fraction a) 0.041 b)6.03 c) Convert 5201g to kg.

. Convert 2009 paise to rupees and express the result as a mixed fraction.

. Katrina rode her bicycle 6 2 km in the morning and 3 8 4 km in the evening. Find the distance
travelled by her altogether on that day.

6. Alok purchased 1kg 200g potatoes, 250g dhania, Skg 300g onion, 500g palak and 2kg 600g
tomatoes. Find the total weight of his purchases in kilograms.
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7. Nazima gave 2 Z litres out of the 5 % litres of juice she purchased to her friends. How many litres

of juice is left with her?
8. The lengths in centimetres of 30 carrots are given as follows: 15, 22, 21, 20, 22,15, 15, 20,
20,15, 20, 18, 20, 22, 21, 20, 21, 18, 21, 18, 20, 18, 21, 18, 22, 20, 15, 21, 18, 20 Arrange the data
given above in a table using tally marks and answer the following questions.
(a) What is the number of carrots which have length more than 20 cm?
(b) Which length of the carrots occur maximum number of times? Minimum number of times?
9. Following are the choices of games of 40 students of Class VI: football, cricket, football, kho-kho,
hockey, cricket, hockey, kho-kho, tennis, tennis, cricket, football, football, hockey, kho-kho,
football, cricket, tennis, football, hockey, kho-kho, football, cricket, cricket, football, hockey, kho-
kho, tennis, football, hockey, cricket, football, hockey, cricket, football, kho-kho, football, cricket,
hockey, football.
(a) Arrange the choices of games in a table using tally marks.
(b) Which game is liked by most of the students?
(c) Which game is liked by minimum number of students?
10. The length of a rectangular field is twice its breadth. Jamal jogged around it four times and
covered a distance of 6km. What is the length of the field?
11. Length of a rectangular field is 250m and width is 150m. Anuradha runs around this field 3
times. How far did she run? How many times she should run around the field to cover a distance of
4km?
12. The perimeter of a regular hexagon 60cm. What is the length of each side of the hexagon?
13. A rectangular path of 60m length and 3m width is covered by square tiles of side 25cm. How
many tiles will there be in one row along its width? How many such rows will be there? Find the
number of tiles used to make this path?
14. Parmindar walks around a square park once and covers 800m. What will be the area of this
park?
15. If a note book costs Rs p and a pencil costs Rs 3, then the total cost (in Rs) of two note books
and one pencil.
16. Sunita is half the age of her mother Geeta. Find their ages (i) after 4 years? (ii) before 3 years?
17. State whether the given statements are true (T) or false (F)

aj4:7=20:35 b)02:5=2:05 ¢) 3:33=33:333 d) 15m : 40m = 35m : 65
18. In a year, Ravi earns Rs 360000 and paid Rs 24000 as income tax. Find the ratio of his (a)
income to income tax. (b) income tax to income after paying income tax
19. Of the 288 persons working in a company, 112 are men and the remaining are women. Find the
ratio of the number of (a) men to that of women. (b) men to the total number of persons. (c) women
to the total number of persons.
20. When Chirag visited Mumbai on a holiday, he observed that the ratio of North Indian food stalls
to South Indian food stalls is 5:4. If the total number of food stalls is 117, find the number of each
type of food stalls.



Subject: SCIENCE
I. Answer the following questions :
Q1. What are the advantages of recycling?
Q2. List four ways in which you can contribute to better disposal of waste.
Q3. What are the major constituents of air? How do fish get oxygen for respiration?
Q4. What are Natural Resources? Name two Natural Resources that can be renewed.
Q5. When will multiple shadows be formed?
Q6. Describe with the help of diagrams: i) Solar Eclipse ii)Lunar Eclipse
Q7. Why do you use symbols to draw circuit diagrams?
Q8. Describe the adaptations seen in animals that live on mountains?
II. Distinguish the following :
1. Parallel, convergent and divergent beams of light.
. Shadow and image
. Magnetic and non-magnetic substances
. Conductors and insulators
. Circular and oscillatory motion.
[II. Draw the following diagrams
1. Water Cycle 2. Solar and Lunar eclipse 3. Types of joints 4. Torch and Bulb
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Subject: SOCIAL SCIENCE
A. Fill in the blanks.
1. India has an area of about
2.The latitude that runs almost halfway through India is called
3.There are __States and __ Union Territories in the Indian Union.
4.The city is divided into a number of _____
S.Gautamiputra satakarni and other satavahana rulers were known as lords of
6.The images of deities were placed within special homes or places known as

B. Choose the correct option from the following.

1.The southernmost Himalayas are known as

a)Shiwaliks b)Himadri c)Himachal

2.The Palk Strait lies between these countries.

a)Srilanka and Maldives b)India and Srilanka c)India and Maldives.
3.Which of these rivers originates in Tibet where it is called the Tsangpo?
a)Ganga b)Brahmaputra c)Indus

4.0oty,though close to the equator ,is cool because of its

a)Heavy Rainfall b)High altitude c)Temperate latitude

S.Puhar was an important port on the ___

a) West coast b) East coast ¢) Malabar coast d) None of the above.
6.The capital of the pandyas _____

a) Madurai b) Mudumalai c) Pataliputra d) Ujjain

C. Answer the following.

1.Weather and Climate.

2.Define the following terms.

a)Delta b)Plateaus c)Island d)Peninsula e)Monsoon winds.
3.Name the ruling families of South India.

4. Name the seasons of India.

S. Write a brief note on Chinese Buddhist pilgrims?

6. What are sources of funds for a Municipal Corporation?
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